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Q1-  31°or 32° or 33° (1 mark)
Acute should be circled
(1 mark)
@28 XI=11
XLIV = 44
11 + 44 =55 (1 mark)
Q3
(1 mark)
< Q4 ._:thmbusj 1 mark) =
~ | Q5 23and 19 should be circled
(1 mark)
Q6

Q10

Q11
Q12

Q13

Answers

a=360°-120°-105°
=360°-225°=135°
(1 mark)

p*=7 x 7 = 49 (1 mark)

— Radius

— Diameter

— Circumference

(1 mark)

10% of 280 = 280 + 10 = 28
5% of 280 =28 +2 =14
15% of 280 = 28 + 14

= 2echildren’ St tae

* 50280~ 42'= 238 children

don't cycle to school.

(2 marks for the correct
answer. Otherwise 1 mark
for finding 15% of 280.)

(2 marks for all three correct.
Otherwise 1 mark for one or
two correct.)

Volume :

= length x width x height
=6x4x12=288cm’
(1 mark)

12+3=4

Q8

21ES)
33+3=11
3 =17

So 3 is a factor of all of
these numbers (as it divides
exactly into them). (1 mark)

80 000
400 000
(1 mark for both correct)

Q2 Thirty one thousand, five
hundred and sixty three.

(1 mark)

Q3 728 942 (1 mark)

Q4 632527, 623 581, 623 458

(1 mark)

319 should be circled. -
(1 mark) stz

Q5

784%> 7836 ——=——
230799 < 237030 = =
1926 709 < 1 926 790

(1 mark for all three correct)

Q7 Wirite how many stamps
each girl has as a number:
Jess has 14 429, and
Padma has 14 011.

14 429 > 14 011, so Jess

169-93:

o Iking usiTEOTE- -
[@pTication with no more
thanzgae error.)

Make equivalent fractions
with the same denominator:
8

BoRERT6 1 202 5 15
DDA =248~ 23
13 i
and 57 So the order is:
1135 8
2'24'8' 12

(2 marks for the correct
order. Otherwise 1 mark for
finding equivalent fractions.)

(2 marks for ordescarrect—

Otherwis ark for at feaSt
three consecutive numbers
given in the correct order.)

Pages 8-9 —
Negative Numbers
Q1

Count on 10 places from -5:
5

Count back 7 places from 3:
-4

(1 mark for both correct)

Q2 Counton 12 places from -9:
3 points (7 mark)
Q3 The answer is 17 less than 4.

Count back 17 places from 4.
Its 4 places from 4 to 0, then
another 17 — 4 = 13 places.
-13 °C (1 mark)

© CGP — Nor 10 BE PHOTOCOPIED
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Gecrion Five — MEASURE

Units and Conversions

@ For each of the following, circle the best estimate.

The length of an adult’s thumb.

f a tin of beans.

K9 4009

Draw lines to join up each pair of equivalent lengths.
it

The first one is done for you.

35 mm

0.35m

350 cm

Circle the value below that is'fédui\?alent to 2500 ml.

25 litres 2.5 litres 250 litres 250 000 litres
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Units and Conversions

@ Choose the correct unit to.complete the sentences:

kilogram  metre gram  milimetre  centimetre

[EEes 1 foot = 12 |nches

e [ g How tall is Max in feet and inches?
7=-61

—60

—59

I:sa LN l

57
=56

Mmoo w>

ﬂ‘ in E

1 mark

" Kim is 4 feet 9 inches tall. Which letter shows her height in inches?
! 1 mark
2. it

A

@ ""MarYa_m is making apple juice for a party.

11b=16 0z
Maryam uses 10 pounds of sugar. How many ounces is this?

0oz
1 mark

i
1 gallon = 8 pints S { L
The juice fills 24 one-pint bottles. How many gallons is this? l

= [ st

— Nor 10 Be pHotocoPIED
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Units and Conversions

@ Erin needs 9 metres of fencing. Roughly how long is this in feet?

1 metre = 3 feet

snae & i
=

&? Ibgihim’s mum set himkguy 1éounces of oats ang 6 pints of mil

100 grams =4 ounces
Circle the box of oats that Ibrahim should buy.

P T T T TR
{

i
v

O

250 g

=
E

The milk is sold in 1, 2 or 3-litre cartons.
Circle the set of cartons that Ibrahim should buy.
1 litre = 2 pints

TS = =
I 7] 3¢
e or| e [as
A E
] I
or -

D E

|

=

@ Jane is taking part in a 20 mile race.

8 km = 5 miles
Approximately how long is the race in kilometres?

wert between units for
ents of length, mass and WIums."

8ecrion Five — MEagure
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Calculating with Measures

@ Circle the correct number in each sentence.

= Thereare 7 / 10 / 24 hours in a day.

There are 24 / 60 / 100 minutes in an hour.

There are 360 1365 | 366 daysina leap year. -

i

g
i@

minutes

minutesJ D ‘ |
i |

2 marks

£102.53 into pence |

e =

2 marks

How much will he have if he washes the dishes every day for 8 days?
Give your answer in pounds.

8ecrion Five — Meagure
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Calculating with Measures

@ Itis 1 week and 3 days until Isla goes on holiday.

Fill in the boxes below to convert this time into hours.

1 week and
“3days — > days |—— |+ hours

e £ i
? B g ¥

_— :
L@as a strawberry lace that is 36 cm Ibng.
S@eeds pieces 18 mm long to decorate a cake.

How long is the lace in mm?

F

How many 18 mm pieces can she cut from the lace?

=L

Kelly has a 1-litre bottle of milk.

She uses 25 ml of milk to make one cup of tea.

Circle the number of cups of tea Kelly can make with the 1-litre bottle.
= 4 40 100 4000

How much milk is left after she has made 12 cups of tea?
ESN
ml

Gecrion Five — Measure © 0GP — Nor 10 8 PHOTOCOPIED
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Calculating with Measures

0 Amra spends 50 minutes playing a computer game,
followed by 23 minutes writing emails.
Amra is only allowed to spend 3 hours on the computer.
How much time does she have left?

E =

%
hour(s) and

ie's shelves are 50 cm long and 20 cm apart.
he wants to buy storage boxes to fit on them.

The boxes are 0.1 m wide,
and the same depth as the shelf.
How many boxes will ﬁt along the top shelf?

5cm=2in
Circle the tallest box that will fit on the bottom shelf. { :

D B ] B

‘
|

:
John is using his grandma’s recipe for scones.
The recipe needs 8 ounces of butter.

John only has 150 g of butter.

100g = 4 oz

Approximately how much more putter does he need in grams?

© Col —Nnrmnsmumcomsn
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Q1  534+6=9 (1 mark)

Q@2 O:6=1
s0()=11x6=66
(1 mark)
15x () =60
so()=60+15=4
(1mark) &

Q3 y=16+22£ 38 (1 mark)

32=x+22
X =32-22=10 (1 mark)

Q4 d = Daniel’s number

57 —7 = 50%
d+2=50,50d=50x2
C_ST00 (1 ks, = -

Q5  Tuesday: 14 x 2 + 4
=28 + 4 = 32 cars (1 mark)
.

Wedneséay =32:2=16
Total: 14 + 32 + 16 = 62 cars
« (1 mark)

Q6 Eg4x9=3650A=4

— Me
Pages 50-52 —

Units and Conversions

Q1 7 em, 2 m and 400 g should
be circled (7 mark)

Q

35tm: i

1 m =100 cm

3.5 x 100 = 350 cm
35 cm:

(1 mark)

Q3 1 litre =1000 ml
2500 + 1000 = 2.5 litres
(1 mark)

Q4 There are 10 millimetres
in a centimetre. (7 mark)
1000 grams is equal to

Q
e

Q8 100 g =~ 4 ounces

16 ounces is 4 lots of

4 ounces, which is roughly
equal to 4 ots of 100 g.

So the 400 g box should
be circled. (7 mark)

1 litre = 2 pints
6 +2=3 litres
2 + 1 =3 litres, so D should
be circled. (7 mark) =

8 km = 5 miles ¥

20 miles is 4 1ots%f 5 miles,
which is roughly equal to

4 lots of 8 km. 4 x 8 = 32 km
(2 marks for correct answer.
Otherwise 1 mark for some
correct working.)

Pages 53-55 — Calculating

Q1

Q2

with-pfeasures - - -

24, 60 and 366 should
be circled (1 mark)

1 hour = 60 minutes
Journey 1: 4 hours = 4 x 60
=240 minutes

240 + 10 = 250 minutes

(2 marks for four correct
pairs, otherwise 1 mark for
two or three correct pairs.)

© =489 =57 inches
So letter E shows her height.
(1 mark)

Q6 1lb=160z
10 x 16 = 160 oz (1 mark)

1 gallon = 8 pints
24 + 8 = 3 gallons (1 mark)

Q7 1 m=3 feet
9 x 3 =27 ft (1 mark)

Q4

Q5

4 789 + 100
= £27.89 (1 mark)

£102.53 = 102.53 x 100
=10253p (1 mark)

8 x 40p = 320p
£1=100p

320p = 320 + 100 = £3.20
(1 mark)

1 week = 7 days

1 week and 3 days
=7+3=10days

1 day = 24 hours

10 days = 10 x 24

=240 hours

(1 mark for both correct.)

1cm=10 mm
36 x 10 = 360 mm (1 mark)

360 + 18 = 20 (1 mark)

——

EEEE———
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Q8

1 litre = 1000 ml

1000 + 25 = 40, 50 40 cups
of tea should be circled.

- (1 mark)

12 x 25 ml
1000 ml -
(1 mark)

=300 ml
300 ml = 700 ml

50 + 23 = 73 minutes
1 hour = 60 1 minutes .
3 hours = 3 60 -

= 180 minj
mm’g

180-73

107 + 60 = 1'remainder 47,
50 107 minutes

=1 hour 47 minutes

(2 marks for correct answer.

Otherwise 1 mark for a

correct conversion between

hours and minutes, or
minutes-and-hours-)
LSSt 1 A

5 cm = 2 inches

20 cm is 4 lots of 5 cm,
which is roughly equal
10 4 lots of 2 inches.

Q4

Qs
Q6

Q7

s

Pages 58-59 — Area
Q1.

Answers

The perimeter is made up of
fourteen 27 m sides.

So 14 x 27 m should be
circled. (7 mark)

10 x 7 =70 cm (1 mark)

Missing side=12-3=9m
9+6+12+2+3+4
=36m (1 mark)

Missing horizontal side
=10-8=2cm
Missing verticalside
=9-5=4cm#
10+9+2+438+5
=38 cm (7 mark)

Missing horizontal side
=3+4+3=10m
Perimeter =3 +2 + 4 + 2 +

50 she will need 7 rolls
(1 mark)

A =9 cm? (1 mark)

= 9% cm? (1 mark)

Area =z x base x height
= x4x5
=10 ecm? (7 mark)

Area =2 x base x height
=% x10x6
©F =30 m2 (7 mark)

Q 5 Are@éﬁ-h@ triangle

=2 x base x height

=% x6x3

=9m?

Area of right-hand triangle
= x base x helght
=% x 6 x 1Q

=30m? g

Total = ps

2-marksforebtrectanswer, —

Otherwise 1 mark for finding
the area of either triangle.)

Length of entire rectangular
section=>5+6+5=16 cm
Area of rectangle

= length x*Wwidth
=16x2= 32 cm?

= 4 ounces, which is’ rought
equal to 2 lots of 100 g.
2x100=200g 5
200-150=50g
(2 marks for correct answer.
Otherwise 1 mark for a
correct conversion between
grams and ounces, or ounces
and grams.)

Pages 56-57 — Perimeter

Q1

15+6+15+6=42m
(1 mark)

8+8+17 =33 cm (1 mark)

3+3+3+3+4+3+6
=25 cm (1 mark)

Each side measures 3 cm.
5x3 =15 cm (1 mark)

D should be circled.
(1 mark)

Area of A = length x width
=8x2=16 cm?(] mark)

Area of B = length x width
=20 x 16 = 320 cm?
(1 mark)

Area = |length x width
so length = area + width
X =36 + 9 should be
circled. (1 mark)

= length x width,
solength=72 +6=12m

(1 mark)

Area = base x height
=10x5 =50 m? (1 mark)

Area = base x height
=7x4=28 cm? (1 mark)

Area = base x height
Area of A=3 x3

= 9 square units

Area of B=2 x 4

= 8 square units

Areaof C=4x 3

= 12 square units

Areaof D=6 x 2

= 12 square units

Area of E=5x 3

= 15 square units

So the parallelograms with
the same area are C and D
(1 mark)

© COP — Nor 10 B PHOTOCOPIED
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Sue takes her large family to the cinema. They see either ‘Melted"
or ‘Wilbur Flies Again’. The table below shows how many adult,
child and senior citizen tickets Sue buys for each film.

‘Melted _] ‘Wilbur Flies Again’

Senior Citizen

How many people go to the cinema in total?

Se—]

i

A child ticket costs £4.
How much does Sue spend on child tickets in total?

SN

At a meeting, everybody is drinking either tea or coffee.

« There are 20 people at the meeting.
- 6 people are drinking tea.
. 2 men are drinking coffee.
« There are 15 women at the meeting.

Use this information to fill in the table.

'© CBP — Nor 10 BE PHOTOCOPIED
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Tables

@ Use this train timetable to answer the questions below.

Louville  08:47
Redpool  10:05
The Green 10:17
Tillom 10:32
The Zoo  10:45
Wedton  11:02

Billy lives in Redpool. He wants to get the train to

The Zoo in time for the lion feeding at 11:30 am.
What is the latest time he can get the train?

Melissa lives in Louville. She catches the 09:47 train.
How long will it take her to get to Wedton? Give your answer in minutes.

= mioued]
minutes

Olivia is going from Swan Bridge to her friend’s house on Misty Island.
Her friend’s house is a 35-minute walk from the Misty Island ferry stop.

10:13 10:52 11:52 12:13—’

10:45 11:24 12:24 12:45

11:59 12:59 13:10

She needs to be at her friend’s house at 1.15 pm.
What is the latest time she can get a ferry from Swan Bridge?

80 50 30

© PBP — Nor 10 &¢ prorocopiep
?
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Bar Charts, Pictograms and Line Graphs

Sophie has a pet snake. She measures its length every 2 months
and makes a line graph of the snake's growth.

100

@
o

D
o

Length (cm)
ey
o

N
o

4 6 g8 1o
Age (months)

How long was Sophie’s snake when she first measured it?

Estimate the length of Sophie’s snake when it was 5 months old.
cm

gstimate how old Sophie’s snake was when it was 70 cm long.

SN

months

How much did Sophie’s snake grow between 4 and 12 months old?

-

8ecrion Seven — 81ATISTICS





image17.jpeg
Bar Charts, Pictograms and Line Graphs

@ Year 6 are voting for a new school council member.
Atable and a bar chart are used to show the results.

20

Grace Kevin ~ Aisha
Child

Use the bar chart to complete the table.
Who got the second highest number of votes?
How many Year 6 children voted in total?

This pictogram shows the results of the vote.
Complete the key

1o OO00C
@00 | ™
Kevin ()4

Asha DOOO

RSN
.O-

D votes
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Anna makes a pictogram of the number of planes
that flew over her school each day one week.

Monday »i« »f« »f« »‘i
Tuesday »t«»i Key
Wednesday s« A« s »ix = 2 planes
Thursday A g B
 Friday A« A

How many planes flew over her schgol on Friday?
s

————\
Bar Charts, Pictograms and Line Graphs
—K——'—q—\ﬁ_

i

SN

How many more planes flew over her school on Monday

than on Tuesday?

UEE

1 mark

Anna also makes a bar chart of the number of planes which flew
over her school each month from January until June.

o0 T s
50 ’
40
30

20 :'
10 i .

7 By ek b [

Jan Feb Mar Apr May Jun

Month

Number of planes

0

How many planes flew over in total during January and February?

8ecrion Seven — SrATISTICS

1 mark

PTTYT
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Add up all the numbers

in the table:
44+5+8+2+1+3=23
(1 mark)

Add up the numbers in the
d' row: 8 +2 =10

&d ticketsicost £4 Bach:

10% 4 = £40 (1 mark)

There are 20 people at the
meeting, and 6 people drink
tea. S020-6=14 people
drink coffee.
2 men drink coffee, so*
14 — 2 = 12 women drink

—  —coffee.

here are 15 women at the

meeting, s015-12=3
women drink tea.
6 people drink tea, so

6 —3 =3 men drink tea.
-+ Tea Coffee

128

Answers

The second train gets to The
Zoo at 11:15, and the third
train gets there at 11:45.

So the latest time he can
leave Redpool is 10:35.

(1 mark)

The 09:47 train from Louville
gets to Wedton at 12:02.

So it will take her

2 hours and 15 minutes

= 135 minutes. (7 mark,

1.15 pm = 13:15

She must be at the Misty
Island ferry stop 35 minutes
before 13:15, which is 12:40.
The second ferry gets to
Misty Island at 11:59, the
third ferry doesn’t go to
= dsfand, and the fourth
ferry gets to Misty Island at
12:59, which is too late.

So the latest time she can get
the ferry from Swan Bridge is
10:52. (1 mark)

|| Bar Charts, Pictograms

Q

(1 mark)

The second tallest bar —
Aisha. (1 mark)

19 +15+5 + 16 =55
(1 mark)

Aisha has 4 circles on the
pictogram. From the table,
Aishaigot 16 votes,

s0 1 circle must mean

- 16 =4 = 4 votes. (1 mark)

There are 27 pictures next to
‘Friday’. Each picture means
2 planes, so each % picture
means 2 + 2 = 1 plane.

So there were (2 x 2) + 1
=4+ 1 =5 planes. (7 mark)

There are 2 more pictures
next to ‘Monday’ than next

@ PAD __ Rne v oe nunvannnien

Up from 5-manthe |
you reach the line=Then go
across to the axis. Itslength —|
was approximately 85 cm.
(1 mark)

Find 70 cm and go across to
the line. Then go down to
the axis and read the age. It
was approximately 3 months.
(1 mark)

Go up from 4 months until
you reach the line. Then go
across to the axis and read
off the length. Do the same
for 12 months. At 4 months
the snake was 80 cm.

At 12 months the snake was
100 cm. So it had grown
100 — 80 = 20 cm. (1 mark)

Total=15+35= 50 planes
@ mark) 7





image1.jpeg
Practice Test 1

Use a protractor to measure this angle acCuiétély.

L

Circle the correct name of this angle.

Obtuse Acute Right Reflex D
@ Julius is Xl years old. His father is XLIV years old.

What is their combined age in numbers?

@ 'lrran§|a’!e shape A 4 squares to the right and 3 squares down.

Label the translated shape B.

© CBP — Nor 10 BE PHOTOCOPIED -





image2.jpeg
@ Name the shape from this description:
« It is a quadrilateral. « All the sides are the same length.

« It has two pairs of parallel sides. « It does not have four right angles.

RSN

|

@ Circle the prime numbers in the list below.

BN
58 o3 19 21 12

@ Part of a net for a triangular prism has been drawn below.
Complete the net.

|
@ David is 182 cm tall, Ed is 108 cm tall and Boris is 94 cm tall.
Fill in the table below.

@, Height in cm Heightin m
{ David

Pracrice Test 1
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o O
cm

@ The number 1 is a factor of every number.

Find the other number that is a factor of all of these numbers.

12 21 24 88 51
&
Calculate the size of angle a.

120°

105°
a

L d

© CBP — Nor 10 B pHOTOCOPIED
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Match the labels to the correct parts of the circle:

e T

- Circumference Radius

Diameter

There are 280 children in a school. 15% of them cycle to school.

How many children don’t cycle to school?

smallest largest

Pracrice Tear 1





